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SR-NKL, SECOND REVISION TEST - 2023
~ Reg 1]
10 Std | MATHEMATICS No. :
Time: 3.00 Hrs Marks : 100
A ; Namakkal district '
PART - | '
Answer All the questions: | e 18X w4

1. If there are 1024 relations froma setA={1,2,3,4,5}toa set B. Then the .

number of elements in B : . _
a) 3. Y2 M d) 8

2. If f: A~ Bis a bijective function and if n (B)=7 then n(A) is equal to

* iy  b)49 c) 1 d) 14
3. f HCF of 65 and 117 is express&ble in the form of 65m 117,then the value of m is
L4 T byt g1 d)3
ﬁ, The value of (1342%43%........... H15%) - (14243, +15)
~a) 14400 - b) 14200 ¢y 14280 d) 14520
5. Which of the followmg should be added to make x + 64 a perfect square
a)4x 1§x2 - B x% d) -8 x?2 |
6. If number of columns and rows are not equal in a matrix then it is said to be a
~"a) diagonal matrix b)Tectangular matrix '
c) square matrix d) identity matrix
7 In ALMN AL = 60%|M = 50° If ALMN ~ A PQR then the value ofI_ is
7 a4 YT 6)30° . d) 1100

~ 8. The area of triangle formed by points (-4, 0 % (D, —4) and (4,0) is

. . # 4
/ /e
. e ——— - — _

a) 0 sq.units qu units c) 4 sq units  d) None of those

1 |
9 If sIope of the line PQ is —= Jthen slope of the perpendicular bisector of PQ is

a)\/_ b)/ \@ d) 0 e
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10.If sin@=cos® then Ztat126+sin28—lis equal to
/ -3 ._3_"\ 2 -2
a) =5 D)3 ) 3 d) =
11.The curved surface area of a height circular cone of leight 15 cm and base
~ diameter 16 cm is

2)60 7cm?  b)687cm? | c)1207cm?  dy1367cm ?
12. A Spherical ball of fadius r, units is melted to make 8 new identical balls each
~ ofradius r, units Thenr,:r, is

a)2:1 b)1:2 c)4: 1 d)1:4
13. Variance of first 20 natural number is
“a) 32.25 b) 44.25 c),33.25 d) 30

14. which of the following is incorrect?
“a)pR)>1 b)0<PA) =1 c)P(¢)=0 d)P(A) +P(A)=1

| PART - i
Answer any 10 Questions. Question No.28 is compulsory. 10X2=20

15. LetA={1, 2, 3} and {B =x/xis a prime number less than 10}. Find AXB
and BXA

16.1f A={-2-1,0,1,2 }and f: A > B is an onto function defined by
f( +)=x2+ x+1then find B.

17. Solve 3x-2=0 (mod 11).

18. Find the LCM of (5x-10), (5 x%-20) .
19. Find the quaratic equation whose sum and product of roots are -9, 20
S - g % ' y

~_ (rd pr{ V4l R ‘?7‘._'“1‘\ 2 ”
543 A
20. If A=1 =7 9| tnen find the transpose of A & 1
38 2 &

21 In the Figure AD is the bisector of LA If BD=4cm, DC=3cm g4 >
~ AB=6cm, Find AC
27 If the three point (3,-1) (a,3) and (1,-3) are collinear. Find the value of a

. . KU
23 Find the equation of a line passing throught the point (3,-4), and having slope
3.
—:/’;L\?
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24. From the top of a rock 50./3 m high Thes angle of depression of a car oy the
ground is- observedto be 30° . Fmd the distance of the car from the rock. ;"
25. Find the diameter of a sphere whose surface area is 154 mzﬁ/g 18 [ N PRy )|
26. It the lange and the smallest value of a set of data area are 36 8 and 134
‘ respectlvely, then find the iargest value.
27 Two dice are rolled together Find the probablllty of getting a doublet’?

I

o ~ PART-IIl

Aqs’Wer any 10 Questions. Question No.42 is compulsory.

29. Let A={ xew/x<2},6 B= { xeN/1<x<4} and C={ 3, 5} verify
‘Ax(BnC)=(AxB)n(AxC) Q‘_x_ DG (v e)

30. Iff(x)—x?,g(x) 2x and h(x)=x+4 slow that (fog) oh = (fo)(goh) ( 5}9 ’XPN}CV

31. ) a GP the 9" term is 32805 and 6 term is 1215. Find the 120term(2-7)4 (g

32, Rekha has 15 'square colour papers of size 10 cm , 11 cm,
i PR - s P L A AT 24cm. How much area can be decorated with these

colour papers ? Q ’])é, H)‘\* 1) _
33, If 36x'—60x’ +61x* —mx+n is a perfect square Find the values of m and n(? é’) 2)

34 1f A=(1 IJ,BZ(,‘ 2J ,c=[ 37 SJ verify that - A(B+C)=AB+AC {;‘,372)%) 52)

10 X5 =50

=1 3 —4
- 35, State and prove angle bisecetor theroram’; ;
| 36/r|angular slaped glass of with vertices at A—( 5 -4), B (1 6)and C=(7,4) L
has to be painted. It one bucket of paint covers 6 square feet, how many buckels U B¢
of paint will be requrred to paint the whole glass if only one coat. of palnt is applled {PN

\’37 A ( 3;0) B (10, -2 ) and C (12, 3) are the vertices of a triangle ABC. Find the< 2

equation of the altitude through A5 u 7 ”)N = ‘5;)
38. If sm9(1+s‘in29)=00529 then prove that cos® @—4cost+8cos2 0=4 (é U’Gf i'c:/\()N)i‘D
@9 "The radius and height of cyhnder are in the ratio 5 .7 and its curred surface area |

is 5500 sq cm Find its radius and height ( 2 'f l CI @N’)_? 1/
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40.A solid sphere of radius 6 cm is melted into a hollow cylinder of uniform thickness.
If the external radius of the base of the cylinder is 5 cm and its heightis 32 cm,
then find the thickness of the cylinder Ex 74)T (P 2 Q—;‘)

41 The marks scored by 10 students in a class test are 25, 29,

30.33,35,37,38,40,44, 48 Find the standard deviation| =7 g/,{)}(p,\; 208)
42.Thé;e unbiased coins are tossed once. Find the probability of getting at must.2

tails or atleast 2 heads.

PART -IV 6
- ’ . ! = 1
Answer the following. _ ' 2X8
43.a) Construct a APQR such that QR = 5cm |P = 30° and the altitude from P to

QR of length 4.2 cm
(OR)
b) Draw a circle of diameter 6 cm from a point P, which is_8 cm away from its
centre. Draw the tangents PA and PB to the circle and measure their lengths.

44, a) Draw the graph of y =x*- 4 and hence solve ¥ —x—12=0

(OR) S
1 ~» .
: 1 . -
b) Graph the following linear functiony = 5 X Identify the constant of variation
2 and verifty it with the graph. Also find y when x=9
. ii) find x wheny = 7.5

2:

22

23
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